

Equation page 40, line 46

$$\Delta(j+1) = \text{mod} \left(65 - \left(block_length - \left\lfloor \frac{block_length}{65} \right\rfloor \cdot 65 - \Delta(j) \right), 65 \right)$$

Equations page 43, lines 39 to 43

$$\xi = \sum_{i=1}^2 n_b(i)$$

$$\eta = \sum_{i=1}^2 n_b(i) r_c(i)$$

Equation page 44, line 48

$$G(x) = \sum_{i=0}^{p_c} g(i) x^i$$

Equation page 46, line 53

$$b[k-1-j] = g[k-1-j] \oplus b[k-j] \quad \forall j \in [1, k-1]$$

Equation page 48, line 48

$$\Lambda_{1,2}^t(l)(x) = \frac{1}{2} x \cdot 2^{\sum_{i=1}^{l-1} \lceil n_b(i) \rceil} \cdot \left(\frac{1+j}{2} \right)^{\text{rem}(2n_b(l),2)} \quad \forall x \in \mathbb{C}$$

Equation page 49, line 7

$$\Lambda_1^t(l)(x) = \Lambda_{1,2}^t(l)\left(\Lambda_{1,1}^t(l)(x)\right)$$

Equation page 50, line 45

$$\Lambda_2^t(x) = 2 \cdot \text{mod}\left(x \cdot (1 - j)^{\text{rem}(2\xi, 2)}, 2^{\lceil \xi \rceil}\right) + (1 + j) \cdot (1 - 2^{\lceil \xi \rceil}) \quad \forall x \in \mathbb{C}, \quad j = \sqrt{-1}$$